He

|26

Row Mumber

210195

i




Bow Number

| o
oCe
HA "
,Ce |:ICs
AN .
b .G G
513 |1 .
_’}fc :SC:. J,'r_ 3(:'1
Jile |9 3
1C| uCa 4(:3 H':_«F
5 HO015 || .
sli [5Ca s G |sCalsCs
1S|20[5 & | .
E(-l ['-c;'. EIC'T i-c-'j E—Ch
D ASIAS | DT ] 7
1 2?C.3 *‘:C# 1C.:~ *:C._» wC—r
A EQ SElo5 51 e
dfdraradne
x4 i26] 126184319 || .
319G bCs |4Ce 19CalaCe JaCa

e -LEC*: b Ce [0 CalioCe .:CI w(:ﬂ




M@@%CHUS TRTANGIE,
|t 7 21 835 3% 9 7 |

Q) W‘S 'S Hhe Seventh vow T4+ can be
identfed because *H’Le Sficchd 'TLUmbCT
N the row (s the same as the (oW
number |

B) l\(ex+PE)w—> | 8 9% 5671056 9§ § |



& 1 10 45 120 I10 I52 R0

Q) Ihis is qet an entire row since 1S
not symayetricol about the middle
Nnumbeir. ( T+ also dees notrend in |.)

b) [ 1O 43 120 910 952 210 120 45 (O |

c) Frevious Q@@.
| 49 8¢ 84

Nex

Ve 106 8H 36 9 |

+ Hex o _
[0 5% 165 320 H62 462,330 1635 5511 |



@ =2 (elemen) aCi-
=8 (couw ¢Co
6C
~ 6
) 1= (e\tmeﬂ% nCi-
eCol

n=9 (tow}



Ja) @d G\emfzm'F 'n rowW G -
N=c 1=2
SEW
:;IC 2=}
=6 C
£6



bh) 5t Element in row b -

i

O

—
—

[l

|
|

{
!

C
C
|

2
i



d) Ntvelement in row §

’Tl-: 60 f] :60
'TLC)'*-I
= 6OC60"'[



‘G) Bh E’l({r‘rler\"“ in cow 1O -
YL:CIO e &

AR

1o C g

0 Cr

:'20

—
r—
C—

8) @O+h€len1§n-+ of row IT.



TR r— |
M. Th Pascal’s riangle , The values
iNnCcrease +Oword “Yhe middle of

Any row )y Where “r” approaches
one> Na = of “n?

10



	Page 1: Dec 4-9:05 AM
	Page 2: Dec 4-9:17 AM
	Page 3: Dec 3-6:49 PM
	Page 4: Dec 3-6:50 PM
	Page 5: Dec 16-12:52 PM
	Page 6: Dec 3-6:50 PM
	Page 7: Dec 3-6:50 PM
	Page 8: Dec 3-6:51 PM
	Page 9: Dec 3-6:51 PM
	Page 10: Dec 3-6:51 PM

